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1. Miloš BÉDY 3:0 3:0 1:3 1 7 2:1 7:3 +4 2.

2. Roman VÁGAI 0:3 0:3 0:3 0:3 0:9 -9 4.

3. Martin HOREČNÝ 0:3 3:0 1:3 1:2 4:6 -2 3.

4. Juraj HLAVATÝ 3:1 3:0 3:1 3:0 9:2 +7 1.

Poradie zápasov :

1. Juraj HLAVATÝ 3
2. Miloš BÉDY 4
3. Martin HOREČNÝ
4. Roman VÁGAI 5

6

7

8 1- 8, 2 - 7, 3 - 6, 4 - 5, 1 - 7, 2 - 6, 3 - 5, 4 - 8, 1 - 6, 2 - 5, 3 - 8, 

4 - 7, 1 - 5, 2 - 8, 3 - 7, 4 - 6, 2 - 3, 1 - 4, 5 - 6, 7 - 8, 1 - 3, 2 - 4

5 - 7, 6 - 8, 1 - 2, 3 - 4, 5 - 8, 6 - 7

2 - 4 (3), 1 - 2 (4), 3 - 4 (1)

1 - 5 (3), 2 - 4 (1), 3 - 5 (2), 1 - 4 (5), 2 - 3 (4),

4 - 5 (2), 1 - 3 (4), 2 - 5 (1), 3 - 4 (5), 1 - 2 (3)

1 - 6 (3), 2 - 5 (4), 3 - 4 (2), 1 - 5 (6), 2 - 4 (1),

3 - 5 (6), 4 - 6 (2), 1 - 3 (5), 2 - 6 (3), 4 - 5 (1),

2 - 3 (6), 1 - 4 (5), 3 - 6 (4), 1 - 2 (5), 5 - 6 (4)

DC RedDragon Nitra

Poradie v skupine :
1 - 3 (2), 2 - 3(1), 1 - 2(3)

1 - 4 (3), 2 - 3 (4), 1 - 3 (2),

1- 7, 2 - 3, 4 - 5, 1 - 6, 2 - 4, 3 - 7, 1 - 5, 2 - 7, 3 - 6, 1 - 4, 2 - 5,

6 - 7, 1 - 2, 5 - 7, 3 - 4, 5 - 6, 4 - 7, 2 - 6, 3 - 5, 4 - 6, 1 - 3



Skupina:   B              
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1. Radovan VARGA 3:2 2:3 3:0 110 2:1 8:5 +3 2.

2. Juraj HUDÁK 2:3 3:2 3:0 2:1 8:5 +3 1.

3. Róbert DANÁČ 3:2 2:3 3:1 2:1 8:6 +2 3.

4. Gabriela IVANČÍKOVÁ 0:3 0:3 1:3 0:3 1:9 -8 4.

Poradie zápasov :

1. Juraj HUDÁK 9dso 141 3
2. Radovan VARGA 9dso 138 4
3. Róbert DANÁČ

4. Gabriela IVANČÍKOVÁ 5

6

7

8 1- 8, 2 - 7, 3 - 6, 4 - 5, 1 - 7, 2 - 6, 3 - 5, 4 - 8, 1 - 6, 2 - 5, 3 - 8, 

4 - 7, 1 - 5, 2 - 8, 3 - 7, 4 - 6, 2 - 3, 1 - 4, 5 - 6, 7 - 8, 1 - 3, 2 - 4

5 - 7, 6 - 8, 1 - 2, 3 - 4, 5 - 8, 6 - 7

2 - 4 (3), 1 - 2 (4), 3 - 4 (1)

1 - 5 (3), 2 - 4 (1), 3 - 5 (2), 1 - 4 (5), 2 - 3 (4),

4 - 5 (2), 1 - 3 (4), 2 - 5 (1), 3 - 4 (5), 1 - 2 (3)

1 - 6 (3), 2 - 5 (4), 3 - 4 (2), 1 - 5 (6), 2 - 4 (1),

3 - 5 (6), 4 - 6 (2), 1 - 3 (5), 2 - 6 (3), 4 - 5 (1),

2 - 3 (6), 1 - 4 (5), 3 - 6 (4), 1 - 2 (5), 5 - 6 (4)

DC RedDragon Nitra

Poradie v skupine :
1 - 3 (2), 2 - 3(1), 1 - 2(3)

1 - 4 (3), 2 - 3 (4), 1 - 3 (2),

1- 7, 2 - 3, 4 - 5, 1 - 6, 2 - 4, 3 - 7, 1 - 5, 2 - 7, 3 - 6, 1 - 4, 2 - 5,

6 - 7, 1 - 2, 5 - 7, 3 - 4, 5 - 6, 4 - 7, 2 - 6, 3 - 5, 4 - 6, 1 - 3



Skupina:   C    
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1. Pavol POPOVIČ 3:1 3:2 3:1 3:0 9:4 +5 1.

2. Jaroslav OPRALA 1:3 3:2 3:2 1 2:1 7:7 0 2.

3. Michal ZVONÁR 2:3 2:3 3:0 1:2 7:6 +1 3.

4. Patrik KOVÁCS 1:3 2:3 0:3 0:3 3:9 -6 4.

Poradie zápasov :

1. Pavol POPOVIČ 3
2. Jaroslav OPRALA 4
3. Michal ZVONÁR
4. Patrik KOVÁCS 5

6

7

8 1- 8, 2 - 7, 3 - 6, 4 - 5, 1 - 7, 2 - 6, 3 - 5, 4 - 8, 1 - 6, 2 - 5, 3 - 8, 

4 - 7, 1 - 5, 2 - 8, 3 - 7, 4 - 6, 2 - 3, 1 - 4, 5 - 6, 7 - 8, 1 - 3, 2 - 4

5 - 7, 6 - 8, 1 - 2, 3 - 4, 5 - 8, 6 - 7

2 - 4 (3), 1 - 2 (4), 3 - 4 (1)

1 - 5 (3), 2 - 4 (1), 3 - 5 (2), 1 - 4 (5), 2 - 3 (4),

4 - 5 (2), 1 - 3 (4), 2 - 5 (1), 3 - 4 (5), 1 - 2 (3)

1 - 6 (3), 2 - 5 (4), 3 - 4 (2), 1 - 5 (6), 2 - 4 (1),

3 - 5 (6), 4 - 6 (2), 1 - 3 (5), 2 - 6 (3), 4 - 5 (1),

2 - 3 (6), 1 - 4 (5), 3 - 6 (4), 1 - 2 (5), 5 - 6 (4)

DC RedDragon Nitra

Poradie v skupine :
1 - 3 (2), 2 - 3(1), 1 - 2(3)

1 - 4 (3), 2 - 3 (4), 1 - 3 (2),

1- 7, 2 - 3, 4 - 5, 1 - 6, 2 - 4, 3 - 7, 1 - 5, 2 - 7, 3 - 6, 1 - 4, 2 - 5,

6 - 7, 1 - 2, 5 - 7, 3 - 4, 5 - 6, 4 - 7, 2 - 6, 3 - 5, 4 - 6, 1 - 3



Skupina:   D
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1. Jozef GAZSO 3:2 1:3 1:1 4:5 -1 3.

2. Ján GALBAVÝ 2:3 3:1 1:1 5:4 +1 1.

3. Róbert KAMENICKÝ 3:1 1:3 116,152 1:1 4:4 0 2.

Poradie zápasov :

1. Ján GALBAVÝ 3
2. Róbert KAMENICKÝ 4
3. Jozef GAZSO

5

6

7

8 1- 8, 2 - 7, 3 - 6, 4 - 5, 1 - 7, 2 - 6, 3 - 5, 4 - 8, 1 - 6, 2 - 5, 3 - 8, 

4 - 7, 1 - 5, 2 - 8, 3 - 7, 4 - 6, 2 - 3, 1 - 4, 5 - 6, 7 - 8, 1 - 3, 2 - 4

5 - 7, 6 - 8, 1 - 2, 3 - 4, 5 - 8, 6 - 7

2 - 4 (3), 1 - 2 (4), 3 - 4 (1)

1 - 5 (3), 2 - 4 (1), 3 - 5 (2), 1 - 4 (5), 2 - 3 (4),

4 - 5 (2), 1 - 3 (4), 2 - 5 (1), 3 - 4 (5), 1 - 2 (3)

1 - 6 (3), 2 - 5 (4), 3 - 4 (2), 1 - 5 (6), 2 - 4 (1),

3 - 5 (6), 4 - 6 (2), 1 - 3 (5), 2 - 6 (3), 4 - 5 (1),

2 - 3 (6), 1 - 4 (5), 3 - 6 (4), 1 - 2 (5), 5 - 6 (4)

DC RedDragon Nitra

Poradie v skupine :
1 - 3 (2), 2 - 3(1), 1 - 2(3)

1 - 4 (3), 2 - 3 (4), 1 - 3 (2),

1- 7, 2 - 3, 4 - 5, 1 - 6, 2 - 4, 3 - 7, 1 - 5, 2 - 7, 3 - 6, 1 - 4, 2 - 5,

6 - 7, 1 - 2, 5 - 7, 3 - 4, 5 - 6, 4 - 7, 2 - 6, 3 - 5, 4 - 6, 1 - 3



best of 5 legs best of 7 legs best of 7 legs

1A Hlavatý 3

Hlavatý 3

2D Kamenický 2

Varga 4

1C Popovič 2

Varga 4

2B Varga 3

Varga
1B Hudák 3

Hudák 0

2C Oprala 2

Bédy 3

1D Galbavý 1

Bédy 4

2A Bédy 3

Víťaz: Radovan VARGA



Poradie 4. kola:

Poradie: Meno: Zápasy: Legy: Body: Bonusy: Body celkovo:

1. Varga Radovan 5:1 19:13 50 4 54

2. Bédy Miloš 4:2 17:8 40 18 58

3. Hlavatý Juraj 4:1 15:8 30 3 33

3. Hudák Juraj 3:2 11:11 30 2 32

5. Kamenický Róbert 1:2 6:7 20 5 25

5. Oprala Jaroslav 2:2 9:10 20 4 24

5. Popovič Pavol 3:1 11:7 20 3 23

5. Galbavý Ján 1:2 6:7 20 1 21

9. Danáč Róbert 2:1 8:6 10 2 12

9. Zvonár Michal 1:2 7:6 10 1 11

9. Gazso Jozef 1:1 4:5 10 1 11

9. Horečný Martin 1:2 4:6 10 1 11

9. Kovács Patrik 0:3 3:9 10 0 10

9. Ivančíková Gabriela 0:3 1:9 10 0 10

9. Vágai Roman 0:3 0:9 10 0 10


